@

Name

ORDER OF OPERATIONS Score
OF:50
X
Example 1: <<% - %) + %) x 23 Example 2: ((6.25 < 2.5) + 1.2°) — 3.89
_ <l+§>><23 =(2.5+ 1.2 -3.89
33 = (2.5 + 1.44) — 3.89
=3x2
—3.94-3.89
=3X8
—0.05
=24
Solve each expression.
1) (=857 + (1.8 x (8.3 — 0.6)) 2) (% + (—% x %)) x (%)
3 .51 4y . [2Y a2 1002
3) 4+25—(<—§>T<5>) 4) (=232 +(=19) x 1.5
5) 2.8x%(432+(33-27)) 6) (2—((l>3+1l))x22
. 32+-(33-2. 7 5)+15
5V .25\, 1\ 1 2. _
7) <<<—5> . §)+ 2) ! 8) ((45x1.67°=48)+19-24
Q)
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Name

ORDER OF OPERATIONS .

Answer key OF:50
® X
Example 1: ((% - %) + %) x 23 Example 2: ((6.25 < 2.5) + 1.2°) — 3.89
_ 2y
=<%+%>x23 =(25+1.29)-3.89
=(2.5+ 1.44) - 3.89
= 3x2?
X =3.94-3389
=3%X8
=0.05
=24
Solve each expression.
_ac)? _ 8, (3, 8\ (5)
1) (=857 + (1.8 x (8.3 — 0.6)) 2) (3 +( 3 ><9>>><<4>
1
86.11 3 3
3) 3421_ 4y . (2) 4) (=232 +(=1.9)x 15
4 2 5 5
_e3
64 13.35
5) 2.8%(432+(33-27)) 6) (2- (l>3+ 11)} x 22
4 2 8
56 4
_23; é l — l 2. -
7) ((( 2) -2 )+ 2) ! 8) ((45x1.67°=48)+19-24
_a5
4 c 10.3
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